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Please read the following instructions carefully.

1

1) Mark carefully your Roll Number, Question Booklet
Number and series of the paper on the OMR Answer
Sheet and sign at the appropriate place. Write your Roll
number on the question booklet.

Please note, the Roll number, Question booklet
number and Series mentioned by the candidate in the
OMR sheet will be considered final.

2) Strictly follow the instructions given by the Centre
Supervisor / Room invigilator and those given on the
Question Booklet. Please ensure you fill all the required
details and shade the bubbles correctly on the OMR

Answer Sheet.

3) Please mark the right responses ONLY with
Blue/Black ball point pen. USE OF PENCIL AND GEL-

PEN IS NOT ALLOWED.

4) Candidates are not allowed to carry any papers,
notes, books, calculators, cellular phones, scanning.
devices, pagers etc. to the Examination Hall.' Any
candidate found using, or in possession of such
unauthorized material, indulging in copying or
impersonation or adopting unfair means, is liable to be
summarily disqualified and may be subjected to penal

action.

5) After finishing the examination, hand over the OMR
Answer Sheet (Original copy + Duplicate copy) to the
Room-Invigilator. Candidates are allowed to carry the
Question Booklet and Triplicate copy of OMR sheet

with them, after the examination is over.

6) The test is of objective type. This Question Booklet
contains a total of 120 questions and the total time

allotted is 2 hours.

7) Each objective question is followed by four
responses. Your task is to choose the correct response
and mark your response on the OMR Answer Sheet

and NOT on the Question Booklet.

8) All questions are com
.25 Mark and there wil|

0.3125 marks for every wrong answer.

pulsory. Each questi i
estion carries
be a NEGATIVE MARKING of

9) For each answer as shown |
in the ex
tThheC(ngRECT and the WRONG method of orrr o
€ CIRCLE on the OMR sheet ara given below ’

Correct Method Wrong Method

OO0 ®oOo|ooo
X O o O
O oo

10) In view of the tight time span, do not waste your o
time on a question which you find to be difficult. Go on
solving questions one by one and come back ‘o the
difficult questions:at the end.

11) DO NOT make any stray marks anywhere o

\
OMR Answer Sheet. DO NOT fold or wrinkle the r%&;
Answer Sheet. Rough work MUST NOT be done on the
answer sheet. Use your question booklet for this

purpose
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Section 1 - Sub Inspector

1) Which of the
following : )
strategy adopteq Mg is NOT 4

. g m
disparities, e!imint;{i Gowt. of India ?SQSt a three pronged
protection to disadvamag: g gexploitation anée trgm:r\gav'. d°f

roups? =

A) Rural Development
B) Social Empowermem

C) Economic Empowerment
D) Social Justice

\2,3 Mohan saves ¥ 30 by getting 5% discount on a article.

hat is the amount of money paid by him?
A) % 580 s
B) 2 560 N
C) ¥ 570
D) ¥ 550

3) In a certain code, 731" means ‘study very hard', ‘953’
means ‘hard work pays’ and ‘145' means ‘study and work'.
Which of the following is the code for ‘very'?

A) 1
B) 7
C) 4
D) o

a result of the partition under the Mountbatten P!an of
g)r:s June, 1947, the membership of the Constituent

Assembly was reduced to

A) 255 members'
B) 387 members
C) 299 members
D) 490 members

- —

I the Central laws made applicqble to the
f Jammu and Kashmir is provided under

Schedule of the Jammu and Kashmir Reorganisation
which S¢

Act, 20197

6) Instruction: Below mentione

f:fge tt?OHC'USlOnS_,. You have to take the given statements
com?norrlwdl;, I?r?é::/ 'ff they seem to be at variance from the
decidewhich'of ?h acts. Read all the conclusions and then
e ; @ given conclusions logically follows from

given statements disregarding commonly known facts.

d are statements followed by

Statements:

Some fruits are vegetables

Some vegetables are leafy vegetables
No leafy vegetable is a fruit

Conclusions:

1) All fruits are leafy vegetables
II) No fruit is a leafy vegetable

A) Only Il follows

B) Only | follows

C) Both 1 and Il follow

D) None of the conclusions follow

\.-

7) The Jammu and Kashmir _Reorgan\sa\‘\on Act, 2019, has
introduced certain changes in "The States' ang 7ge (/5,0
Territories' sections of the Constitution. Accordingy, -1
of the following Schedules of the Constitution of jngig has
been amended?

A) First Schedule
B) Second Schedule
C) Third Schedule
D) Fifth Schedule

8) As per Article 55(3) of the Constitution of India, the
President of India Is elected through which of the following
processes?

A), Territorial representation
B) Functional representation
C) Proportional representation
D) Minority representation
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‘ ' i i lked
tesh started walking from his home. First, he wa
er:ilést from his home and took a left tun. He then walked
for some more distance and took a right turn. Again he
walked some distance and took a left turn. If he is facing
the North direction at the end, then in which direction did he

start walking initially?

A) East
B) West
C) North
D) South

10) Directions : Read the following statements and answer
the questions given below:

A'is the Father of B, but B is not his son. C is the daughter
of B. D is the wife of A. E is the brother of B, H is the son of

E., F is the wife of E, G is the father of F.
Question : Who is the Sister in law of B?

A)H
B)F
C)D
D)C*

11) Where is the Karakoram range located?

A) Arunachal Pradesh

B) Northern Parts of Jammu & Kashmir
C) Uttar Pradesh

D) North eastern part of Sikkim

12) Choose the best option to complete the sentence:

Most of the communication methods used today

are_________ .

A} technblogy-based
B) manually operated
C) centralized

D) time-sensitive

Page 3 of 16

/ B) Statement (Il) ALONE is sufficient, but statement 0]

the papers 'Commonweay and ‘N faiin g
. ew India’
to popularise the id ndia’ which were used

India? ea of achieving self-government for

A) Mrs. Annie Besant

B) Bal Gangadhar Tilak
C) Gopalkrishna Gokhale
D) Bipin Chandra Pal

14) Given below is a question followed by 2 statements
numbered | and Il. Choose the statement(s) required to
answer the question by selecting a relevant option.

Question: What is the length of the line segment AC?
Statements:

I. Length of line segment AB is 10 cms
Il. Length of line segment BC is 10 cms

A) Statement (I) ALONE is sufficient, but statement (11)
ALONE is NOT sufficient

ALONE is NOT sufficient

C) BOTH statements TOGETHER are sufficient, bt
NEITHER statement ALONE is sufficient

D) Statements (1) and (I1) TOGETHER are NOAT sufficient

iti i the power o govem

British Parliament took away .

::(}i; r}fom East India Company after the Rt:vg\t_ of 1851
The title of the Empress of India was assumed by.

A) Queen Margaret
B) Queen Elizabeth
@) Queen Isabella
D) Queen Victoria

has set up ar
September 2021, the goverpmenl <
lxss)sc:? m;npagement company that will work in tandem wu}t
the National Asset Reconstruction Company d (EARC
to clean up bad loans. ldentify the name of this bank.

Alindia Infrastructure Finance Company \:\m'\\ed )
B) National Debt Reconstruction Corporation Limite
C) India Debt Resolution Company L'\m‘\t.ed

D) State Debt Resolution Company Limited

—
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17) The number which bea
rs

(9/22) does to (5/11) i "
(5111) s same ratio to (7/43) that

A) 61/430
B) 63/430
C) 63/431
D) 61/431

18) Choose th

e
sentence: The b(ig:éaﬁt word substitute for the following
properties of sound. of Physics concerned with the

A) Rhythm .
B) Resonance
C) Acoustics
D) Announce

-

owing way of

19) What type of food chain exhibits the foll
transfer of energy inan ecology?

Dead organism —* Fungi — Bacteria

cer food chain
B) parasitic food chain
C) saprophytic food chairl

D) Predator food chain
es?

s the odd oné out among the four imagd

A) Produ

20) Which i

@@

A1)

o

s of an |p address in

21) What Is the number of bit
IPV6 version?

A) 32
B) 64
C) 128

D) 256
arouse political

22) Identify the national leader who tried to ot
consciousness_in the genera tion t.ngl the
newspapers like 'Kesari' an : during  India’s

freedom struggle.

Maratha

A) Gopal Krishna Gokhale
B) Bal Gangadhar Tilak

C) Aurobindo Ghosh

D) Subash Chandra Bosé-

23) Gandhara school of art was oné of the maior schools of
art in the history of ancient India. it flourished and
developed during the rule of which of the folowing
dynasties in India?

A) Kushana dynasty

B) Satavahana dynasty
C) Maurya dynasty

D) Gupta dynasty -

I

24) Identify the part of the sentence that has an errorThe
dog ‘pounced in the thief when he tried to run away.

A) The dog pounced
B) inthe thief

C) when he tried

D) tried to run away

al reformers prea

the following soci
One GO

25) Who among
One Religion an

the doctrine of ‘One Caste,
A) Narayan Guru
Jyotiba Phule

¢) Naoroji Furdunji
D) palak Singh

I
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26) The Himadri was formed by what type of rocks?

A) Igneous Rocks

B) Sedimentary Rocks

C) Metamorphic Rocks

D) lgneous Rocks and Sedimentary Rocks

27) Which one of the following is a standard mail protocol
used to receive emails from a remote serverto a local
email client?

A) SMI

B) POP3 -
C) SNMP
D) UDP

28) Study the following table carefully to answer the
questions. The table gives the number of people visiting six
different malls and the percentage distribution of men,
women and children who are visiting. The total number of
women that visited mall R is

Namesof | Totalnum Percentage  Of
Malis §
grpopR [Men Women | Children

L { 6000 52% 40% 8%

f N 5600 30% 68% %

F 4800 35% 50% 15%

R 4400 48% 38% 14%

T 7200 40% 50% 10%

A) 1272
B) 14367
C) 1672
D) 1836

dia launched an
20) [n 2021, the Supreme Court of In d ar
Art)iﬁcial Intelligence (Al) based portal throug_h which nt
intends to leverage machine learning to deal_wnth the vas
amounts of data received at the time of filing of cases.

dentify the name of this portal.

A) AIRAWAT -
B) SUPACE
CLRAISE

D) UDAAN

30) Which of the followi
saturated air mas
forced to rise?

ng types of rainfall occurs when th.e
$ encounters a mountain and the air is

A) Frontal rainfal|

B) Convectional rainfall
C) Cyclonic rainfall

D) Orographic rainfall

31) Listening is

A) an accurate perception of what is being communicated
B) hearing sounds-

C) responding to a message
D) soundwaves reaching the ear

32) The Wing Commander (now Group Captain)
Abhinandan Varthaman was accorded with which of the
following gallantry . awards (2021), for shooting down a
Pakistani F-16 fighter aircraft during aerial combat in
February, 20197

A) Kirti Chakra

B) Ashoka Chakra
C) Vir Chakra

D) Param Vir Chakra

———

33) Complete the sentence by choosing the correct oplion:

In formatting an e-mail, care should be taken that

e —

mentioned

attached
\ written in capital letters

A) the reference number-'\s
B) the original message_ is
C) the enitire message is no
D) there are no attachments

e ——————

the CORRECT option for the given statements.

34) Choose o Pass is a high mountain pass in the Westerr

(i) Bara-lach
Ghats mountain range.

(ii) Bara-lacha Pass connects Lahaul district in Himach
Pradesh to Leh district in Ladakh.

K) Statement (i) is True and (i) is False

B) Statement (i) is False and (i) is True

C) Both the statements (i) and (i) are True
D) Both the statements (i) and (i) are False

Page 5 of 16
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.y of the following statements i i
35) Wh'gn_cooperatlon Movement? 1918 FALSE In retation

ople were asked to boycott
A) B indian-made goods Yoot forelgn goods and use
arkhas were populariz
325 promoted ed on a large scale and khadi
c Abolitio.n of Sfa: tax and reduction in land revenue rate
promotion Of harmony betwee
Pros n the Hindus and the

36) The Constitution of India was adopt the
constlwe”t Assembly of India on which ofptr?e;j fotl)l)éwing

dates?

A) Nov 26, 1949
B) Dec 26, 1950
C) Jan 26, 1949.

D) Nov 26, 1947 ;
e —— s,

e

37) Read the following statements and choose the

CORRECT answer.

re of economic welfare that
e leisure time, environmental

(i) GDP is a specific measu
gender equality.

does 'NOT" include aspects like |

quality, freedom, social justice or
(i) Per Capita Income includes and also indicates the level
of income equality among people.

A) (i) is True and (ii) is False -
B) (i) is False and (ii) is True
C) (i) is True and (ii) is True

D) (i) is False and (i) is False

38) Kalinga war changed the |j |
= .
modern state of India is Kalinggfﬁ)coaftgin?g Ashoka. In which

A) Odisha
B) Rajasthan-
C) Punjab

e ———————

39) What kind of a phrase is th o
@ underlined part ¢
1t of the

sentence? The diamond is g
mesmerized by it. hining brightly, that everyong jg

A) Adverb Phrase
B) Adjective Phrasg
C) Noun Phrase

D) Verb Phrase

—_—

—

40) The new 1t/
SARS-CoV-2 variant, B.1.1.529 first répotsq

in South Africa clags;
ssified as a “Vari ”
World Health Organization is narngzr;t. of Concern” by the

»

A) Delta plus
B) Gamma
C) 9micron
D) Alpha

—

41 .. "o
ﬁrs)t 1;2?‘ lgl?;s:gydogt:;:::ro? E:'lployment launched India's
i ; " organised i
wl::ch will be helpful in delivering variou:v::,kc?; in 2021
schemes being 'mP‘emented by the Central dseaxmy
Governments. Identify the name of this portal and Stzta

A) ePARISHRAM
B) eUDYAM
CyeSHRAM
D) ePRAYAS

4?) On invitation of which of the following freedom fighters
did Mahatma Gandhi visit Odisha for the first time in 1921,

at Cuttack?

A) Chandra Sekhar Behera
B) Laxmi Narayan Mishra

G) Gopabandhu Das
D) Biswaksen Mishra

D) Haryana

ary system, a member who is

jan parliament
¢ Rajya Sabha serves for a

In the Ind
&) full term of th

elected for @
period of:

A) 4 years
By 5 years
C) 6 years
D) 2 years

| ‘ \"3: PageGOf16 \/
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44) The period of transition from childhood ¢
js known as and adulthood

AyMaturity

B) Courtship

C) Adulthood
D) Adolescence

45) A forest of trees and undergrowth plants inhabitated by
animals and rooted in soil containing bacteria and fungi is

an example of

A) Hybrids

B) Biomass

C) Endangered species
D) Biological community

46) Identify the synonym for the word - acrimony

A) rancor

B) civility

C) matrimony
D) obstinacy

47) The quective of Social Development Goals is to link
together different dimensions known as Triple Bottom Line

combining 3Ps. Which of the following are three Ps in
Triple Bottom Line of SDGs?

A) Place, Person, Position

B) Progress, Possibilities, Profit
C) Place, Pricing, Product

D) Planet, Profit, People

48) A printed circuit boad that can be installed to enhance a
computer's capabilities, as by increasing memory or

improving graphics is called

A) writing tablet

B) keyboard

C) expansion board
D) NIC controller

h of the f
effects to 4 wep p:g:;' ing markuyp language is used t0 add

A) XML

B) DHTML
C)C++

D) C Language

L R S

50) The Human Development

which one of the foll Index (HDI) includes

owing Components?

A) Ratio of Medical D

octors .
B) The Birth and Lits Expectoney. " " " "0
C) The Students graduating from Pre-Primary School

D) The Infant mortali
Diarrhea ity rate due to Pneumonia and

51) Choose the correct word substi

stitute f i
sentence: One who engages in an art.'sc(i)ern?ee :tjlljlg;v ":Jgr
sport for pleasure rather than payment i '

A) amateur
B) dramatist

C) provocateur
D) Professional

———————

52) The final authority for making laws n \ndia, hat can
make new laws, change existing laws or abolish them is,

the

A) Supreme Court
B) President

C) Prime Minister
D) Parliament

53) River Godavar
states in India?

A) Maharashtra
B) Tamil Nadu-
C) Andhra Pradesh

D) Telangana

*age 7 of 16

Scanned with CamScanner

i originates from which of the following



v N/
720 NN g,
V /
se correct match of the im
54) €N age that wij
gpace fill the 59) Who among the followi o
plank <P " dia, after the 16th Lok Sabha Z‘.’:‘S}E,,‘L‘? R
probiem Figures Answer Figur
(4] .
A) Atal Bihari Vajpayee
B) Man Mohan Singh

C) H D Devegowda

Al '
\VL “] D) Narendra Modi

- —

——

O] )
ions that will make

s 60) Select
B) (b) elect one of the following four opt
c)(c) the 2nd pair analogous to the 1st pair given.
D) (d) 345:12:179:7,
/ /
A) 14
55) Which of the following options includes machinery, B) 15..
work plants, equipment, new technologdy factories, c) 16
bullgings and goods that are designed to 'ncrease the
economy's productive potential? D) 14
A) Fixed Capital
B) Working Capital 61) Ozone is a 9as made up of
C) Capital Productivity
A) four oxygen atoms

B) two oxygen atoms

D) nfrastructure
C) three oxygen atoms
D) five oxygen atoms

T a cause for the loss

56) Which of the following iS NO

of blodiversity in general?
62) In August 2021, India's first ‘Smog Tower, an

A) Co-extinction ‘
B) Alien species invasions experimental set up to purify air in a 1-km radius around
C) Over exploitation the structure, at a rate of around 1,000 cubic metres of aif
D) Reforestation per second was installed in which of the following cities?
- A) Mumbar
57) The ‘Montreal Protocol' is an international treaty B e
designed to fulfil which of the following objectives? C) Chennai

D) Delhi

A) Narcotics Control

B) Hazardous Waste Disposal —_—
C) Ozone Layer Protection
D) Wild Life Protection

21, who became the first Indian woman to
d win the Silver medal at the 2021 World

ships in the 57kg category?

63) In October 20
reach the finals an
Wrestling Champion

j 8) Identify the partof the sen; |

college offer all the courses of’;‘[’tes that has an error: The A S?kshi Malik

courses of science. and hUmanity but o B) V|neSh Phogat
C) Anshu Malik

D) Babita Kumari

A) The college offer

B) the courses

C)of arts and humanity
D)butno courses of science

2 8of 16
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2021, Prime Minister Narendra Modi 69) What kind of 5 phrase | rt of the

64) In October ; sentence? Th @ Is the underlined pa

d the second phase.of Swachh Bharat Mission- @ glass was full of water when it slipped from
IlEJiubnacr:‘e(SBM-U) and Atal Mission for Rejuvenation and his hands. full of water when it slipp
U;ban Transformation (AMRUT), missions. These have
been designed to realise the aspiration of making the cities A) Verb Phrase
of India B) Adverb Phrase

5 C) Prepositional Phrase

A) Pollution Free and Home Secure D) Adjective Phrase

B) Slum Free and Food Secure
C) Garbage Free and Water Secure
D) Crime Free and Food Secure

70) Identify the synonym for the word - imminent

£ e q A) important
to Northem part of Karataka an xpedien
iﬂsghal:asﬁé‘ 3&, will see lots of cotton plar?ts. What is the g; lems en din;
reason for that? D)ynlike ly
A) Cotton grows well in the black soil of the Deccan
Plateau
B) The Deccan plateau receives a lot of rainfall and 71) The indigenous catfishes in Indian rivers are facing a
requires a lot of labour threat of extinction because of which reason among the
C)-Maharashtra and Karnataka experience hot climate following options?
throughout the year, so most of the people need cotton ]
clothes A) Coextinction
D) Deccan plateau has more number of cotton factories B) Alien species invasion
C) Habitat loss
: D) Qver exploitation
66) Which of the following political parties belong to
Kerala?
. . 72) Which of the following options is NOT an example of
A)-United Democratic Front Abiotic component of an ecosystem?
B) United Capitalist Front
C) United Socialist Front A) Air
D) United Progressive Front B) Sail
Gy Sunlight
) D) Fungi
67) Which of the following document was submitted by
Government of India before COP21 in Paris?
A) Intended Nationally Determined Contribution 73) What is the full form of MSG, a chisfiNor enhancer

i ; used in the food industry?
B) Climate Change and Determined Nation ‘

C) Collective Contribution and Rejuvenate Nature

A) Monosodium glycinate
D) Nation's Intention and purpose for Revitalization

B) Monosodium glutamate
C) Monosodium glutamine
D) Monosulphur glycerol

68) As of 2021, the J

ammu and Kashmir Reorganisati
Act, 2019, consists of: 2 e

A) 103 Sections and 5 Schedules
BY105 Sections and 7 Schedules
C) 107 Sections and 7 Schedules
D) 107 Sections ang 5 Schedules

Page 9of 1g
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. RAM (Random Access

74) EVMs are used in Indj

by voters i e
to cast their vote, EVM ?: :"a’ i Elact
N acronym fq ons
or

A) Electrical Voti
oting Mecha
B) Election Voting Machinenism
C) Elected Voting Member
D) Electronic Voting Machine

——

75) Imagin

They asgk ?O{JOU;bparents are planning to build a house.

landform, you W ,C(’jut the different landforms. In which
J ould suggest them to build a hous® and

why?

A) Mountain, because it is thinly populated and cold

climate
B) Plateau, because it i rich in minera!® and at high
altitudes
C) Desert, because it is very hot during the day and cold
during the night
D) Plain, because of its pleasant climaté throughout the
year
i nisation Act,
76) As per the Jammy £ ir R er Arice 239
2019, an Adminsirzor 1 be aPh o territory ©f Jammu

of the Constitution of Indi ' )
and Kashmir and he/she shall be designated 25

A) UT Administrator

77) The average weight of 25 kids is 24 kg. If the weight of
a man is inc en the average weight increases by

ch device is used to perform the traffic directing

whi
78} on the Internet?

functions

A) Bridge
B) Firewall
C) Router
p) Hub

message?

. data
;ﬂ?m‘i)vrr)]’;]twn’g'n giFJ\/pein ct)(;s off and computer shuts dowr?
in RAM and

4 ma
Data is stored per
A) sed frOm <

not get er
retrieved 't
B) Data Isd ond activity resu

restoré ° ra
store lfﬂf and it will have 10
- oter Recovery site (DR

r goes o
" vered from pisaster :
1S s ontinued with little disturbance

ata recoY -
D) {s)ite) and Operatlo
jowing states is bisected by the Tropig

ich of the fol

the data wil|

isters when power is

m Access emory is lost when
be recreated

C) pata
poWe

80) wh
of canceé
AyWest Benga|

g Odisha~
c) uttar pradesh

p) Goa

o

he meaning of miscomm

e ——

unication?

g1) What is t
ong medium to communicate

ong language
the channel of communication

perceiving the intended meaning of

Ay Using the wr

B) Using the wr

(0] Disturbance in

D) The receiver not
the message

-

following instruments is u
of the Human body?

sed to measure

82) Which of the
the blood pressure

A) Endoscope
B) Thermometer

&) Stethoscope

WSphygmomanometer

P

83) Whom would you choose as the recipient of a

ave access to the information

noth
ge or its

A) Those who should
o affected by the messa

B) Those who will b
results
C) Those who have no say 0
ose who have no resp
understanding

rinterest in the matter
onsibility or capability of

.—/67;'-1—8—-_—\
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84) In which range of H_Ima]ayas the Mount Everest, the
highest peak of the world is situated?

A) The Sivalik range

B) Nilgiris range

C),The Great Himalayas
D) Aravalli Range

85) Identify the Antonym for the word - jeopardy

A) escapade
B) revelry
Oy peril

D) safety

86) Identify the Antonym for the word - disparity

A) visibility
B) vulgarity
C) humility
D) similarity

87) Which of the following options is a web" browser to
access the internet?
A) Microsoft Word
B)Google Chrome
C) Adobe Reader
D) TeamViewer

88) Which of the following refers to a web address which
uniquely identifies an object over the internet?

A) DNS

B) URL

C) HOST

Dy IP Address

89) The term Biomagnification refers to

A) increase in concentration of non-degradable pollutant
as they pass through food chain

B) group of individuals of the same species within a
community

C) number of births during a given time period

D) interspecific interaction between members in which
one population adversely affects the other

————

—/
90) Which of
these can be 5 barrier to communication?
A) Clear diction
B) Unbiased opinion

C) Use of high-sounding words
DY Good network connection

—_—

91) Which of the follow

i
usually increases its sudacnfte“n,:;:?added to pure water

A) Detergent
B’)"Sodium chloride
C) Kerosene oil

D) Phenyl

92) To control the operations of a co :
i m
following software is designed? puter which of the

A) Appﬁ;:ation
B) System

C) Utility

D) . User

/

93) WwWhat would be a barrier to communicalion W a fors\gn

country?

‘A) not knowing the \anc:;uage
B),unfamiliar surroundings
C) not having the right currencjy
D) not knowing what to orderin a restaurant
n

Do —

. ias are classified at different \evels o
94) Different countrlesw oo of the following criteri

elopment. o
:1(:; cogntries classified as developed countries?

l})/High per capita income

B) High level of unemployment
C) High incidence rate of poverty
D) Low standard of living

Page 11 of 16
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Vague
C) avoig ambigui Message

B) create

) Complicate th/e Messag
e

\—,

96) Which
of the follows:
Statement given belovt/%wmg assumptions is implicit in the

Statement ' Th

o i .
food to stay fit" dietician advised-

"Eat healthy & avoid junk

Assumption(l): Junk food isn't healthy.

Assumption(ll): H
i i i t a person from
many diseases. y food habits preven

A) Only Assumption I is implicit
B) Only Assumption Il is implicit
C) Neither I nor Il is implicit

D) Both | & Il are implicit

97) Study the diagram carefully and answer the question:
Here in this diagram the triangle represents doctors: The
circle represents players. The rectangle represents artists.

Which numbered space in the dig

' gram represents do
who are also artists only? ctors

A)1
B) 2~
C)5
D)6

“Page 12 0f 18
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98) The Jammu and Kap’lgr;deﬂt on-
received assent from the

A) Tth July, 2019
B) 8th September, 2019

Gy6th August, 2019
D) 11th June, 2019
an e)(amp‘e for

ins IS
99) Which of the following oPter

chemical change?

A) Crystallization of salt
BYEvaporation

C) Burning of coal

D) Melting of ice P

tements followed

0) Instruction: Below mentioned are sta o ke
:)3 )some conclusions. You have 1O ta‘;e a‘{‘ variga necg
statements to be true even if they seem to be s
from the commonly known facts. Read all the © okt
and then decide which of the given:conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

All lions are cats.
All cats are hunters.

Conclusions:

1) All hunters are lions
Il) Some hunters are lions
lIl) All lions are hunters

A) Only Il follows
B) Only lll follows
C) Both | and lll follow
D) Both Il and 1l follow
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101) What is the coded number for WNCSZV from the 105) Which of the followin )
following figure? g where people can join 5 grgu,: :nd online dicussion group
group? Nd post messages to that
Figure:
A) Exit polls
LETTER:CZNVRSWFD B) Photos and films
CyForums
D) Editorials
CODEDIGIT: 864729351
106) Which one of
A) 348267 in cold countries tt:e n:zllltoggasubstances is usually used
B) 318267 during winter? CCUmulated on the roads
C) 348857~ i
D) 348967 A) Salt
B) Urea
fuel gas which is mainl d of €) Boric A
102) CNG is a fue Inly composed o g
methane that is used for vehicles in general. Here CNG Uﬁ'iydrogen Peroxide
stands for:
A) Complex Nitrous Gas 107) If £306 i 5/9 % of the price of a sofs,
B) Certified National Gas then the price of the sofa is .
CyCompressed Natural Gas : A)Z 5}5080
D) Coal and Nucleotide Gas\ B) 164560 —
7 ./ 0)T 5580
103) Alex who was facing the West direction turns 135 ¢ D)% 75840
degrees in the clockwise direction and then turns 45 —— —_— 3 % @
degrees in the anti-clockwise direction. Which direction is i, i =
he facing now? 408) The C_C)nst!(l;txq“ g_fﬁ\nd\a ?ua"amees protection from
ial injustice and all different forms of exploitafion. Which
- following is-an INCORRECT option penaining ‘o the
A) North of l:\:cﬁve legislations acted by respective governments?
0
B) South , pr
: Tribes and Other Tradiional Foregt
Q) Morth-East A) Sc“;i‘:‘:?Recognmon of Forest Rights) Act, 2‘003
D) South-West thedule d Castes and Scheduled Tribes (Prevention
. ®) o Economio offenses againstiba pearie) A, 2005
104) Which of the figures given in the answer figures will ¢) The protection of Givil Rights Act, 1955.
complete the figural series given in the problem figures? D) Scheduled Castes and Scheduled Tribes (Prevention
PROBLEM FIGURES ) : Atrociﬁes) Act, 1989
S @D D
ANSWER FIGURES )
: C D
A B
A) A
B)B
C)C

DD
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109) Study the piechg

The number of fi Can
emalg g crully t
department together iz P °Yees° STISWe the quegy
employees in the °°mpany p\fvf;em of c;h;n? in HR angnl?f
- What js 'ye otal number of
Percentage of Employee,
worldniliComp.nyx pe"*"hzeolre '
o - male Employees
WorkingIn Cmnpan: :Ye

Total number of Total number of

Employees = 5000 Female Employees =3200
A) 23.68% =
B) 25.72%
C) 33.22%
D) 37.11%

110) As per the Jammu and Kashmir Reorganisation Act,
2019, how many women representatives can be nominted
{o the Legislative Assembly of the Union territory of Jammu

and Kashmir?

A2,
B)3
C)4
D)6

111) A sheet of paper has been folded in diffe
shown in the question figure. How does ther:? ::ef)s is
when it is opened? Select one of the Optiorfs gic\)/:ns‘

Question Figure Answer flgure
A |
AAmla | A4 Al A
(1) @) & o
A) 1
B) 2
C)3
D)4
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ves her house at .
s 30 minutes 10 re “ninutes n
They finish their breakfast in another G inutes- At what
for their office which takes another

time does she reach her office?

112) Priya lea
evening and take

A) 6:50 PM
B) 7:00 PM
Cy7:10 PM

D) 7:20 PM ///
rganisation

Kashmir Re0 gan
mmr;: jrre‘:c;ted without 2 Leglslva.tqre

113) According to the Jar
Act, 2019, the Union Territo

is:

A) Ladakh
ByrJammu and Kashmir
C) Jammu

D) Kargil
/—f_
114) As per the provisions of the Jammu and Kashr:nit
Reorganisation Act. 2019, .which _Arhcle of Indian
Constitution is applicable to “Union territory of Jammu ‘and

Kashmir'?

A) Article 238

B) Article 238A
C) Article 236~
D) Article 239A

115) Directions: In the following figure, circle represents
literate, bigger rectangle represents healthy and smaller
rectangle represents rich people. Answer the question that

follows:

(5}

Which number represents those i .
rich nor healthy? iterates who are neither

A) 4
B) 2
C)5
D)6
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2 ganisation Act,

Kashmir Reo.r .
As per the Jamm{ anc = iakh comprises of which of
1162) tT:Union territory f Lada State of Jammu and
1
ﬁ?; following territorie® of the
Kashmir?

A) Kargil and Leh distrlcts'v'
B) Doda and Kathua distrlct-s
C) Ramban and Reas! districts
D) Leh and Poonch districts

117) If x:y = 1:3, then the ratio (7x2+3xy):(2xy+y?) Is
A)10:3 /\%’
B)16:5

C)16:7

D) 16:15

v

118) How can bariers created by refutations and

arguments b resolved? *”J:
A"I'St_?hing tothe views of the other /
: tzg to prove one's own views are correct 7 4
; v
o _ng up thg sender or receiver at a higher position \/ 4

ting the contradictions 1 A /) i
\ y :
119) As

2019, Per the Jammy and Kashmir Reorganisation Act,
A'Ssemble total number of members in the Legislative
be: Y of Union territory of Jammu and Kashmir shall

A) 90 | uf
B) 97

C) 115

D) 107

120) What is the term Soft indicates in Software?

A) All the computer languages are Very soft In nature and
product created using these languages are called as &
Software -
B) Programs doesn't create any noise during execution,
unlike disk drives which is part of Hardware. So itis
software X . 3
ily by use
C) Computer software can be changed €as
) er their requirement and hence the term soft
appearing in it
Most of the developers are soft
e in nature. Due to this reason the term soft Is tagged in
the product developed ‘
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